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Part I 

 𝑦′′

𝑦 = ∫ sin 𝑡
2√𝑥

1

𝑑𝑡

  𝑀𝑛

𝑥 ∈ [0,2]

𝑦 = 𝑥 2 − 7𝑥 + 12

Part II

 

 ∫
𝑥

𝑥 2 + 1
𝑑𝑥

 ∫(2 − 𝑥)(3 + 𝑥) 𝑑𝑥

 ∫
𝑒5/𝑥

𝑥 2
𝑑𝑥

 ∫ sec2(4𝑥) tan3(4𝑥) 𝑑𝑥

 ∫
𝑑𝑥

9 + 16𝑥 2

 

 𝑓(𝑥) = 23𝑥2
+ 𝑒cos𝑥 − log3 (4𝑥 + 1)

 𝑔(𝑥) = (sin 𝑥)𝑥

 ℎ(𝑥) =
2

ln(𝑎𝑥)
, where 𝑎 is a non − zero constant

 𝑦 = arcsin(arctan(3𝑥 + 5))



 𝑣(𝑡)

𝑣(𝑡) = 𝑡2 − 2𝑡 − 8, 1 ≤ 𝑡 ≤ 6

 

 

 (1,2) (𝑥,𝑦)

𝑑𝑦

𝑑𝑥
=

ln 𝑥

𝑥𝑦
  .

 

 

 

 

𝑓(𝑥) = 𝑥 2     and     𝑔(𝑥) = 2𝑥 − 𝑥 2

𝑥 = −1

 

𝑦 = ln(sec 𝑥)    where  𝑥 ∈ [0,
𝜋

3
]


